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PRACTICESET -15 %

In the questions given below, a sentence 1s given with

two btanks. Choose the correct pair of words that fits

correctly in the blanks and forms a meaningful sentence.

/

If none 1s correct, choose option E.
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BPS

As Kuttanad 1s still trying to from the

economic aftermath of the deadly n

2018, several women who lost their livelithood are

B

finding their footing in the tourism sector with the

support of the Kudumbashree MlSSlOIl
\ 1. relief; deluge

W /
>T;,Lehef drizzid %
drizzle Xy

5. None of these ﬁ‘(,/
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|
A

Qlis//
in the legislatin the priority

toé core 1deology.
g/ catered
2. Brmgln K

\% Brlnglng,

,/Takﬂ&g—seme_
5. None of these
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The automatedéffe_;;;etee&o' n system will

W the fmages ofdawbreakers aind
the contrelrooms set up 1n 14 districts.

apture, alert

N 3. capture, 1solate

><isolate

5. None of these



|
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A month after Manipur was in ethnic

violence, 18% of the more than 4,000 weapons

from police armouries have been
C_—fompolcean
surrendered with the authorities
\ \ .
']>O /M 1. refrained,)looted

~ | >@ refrained, rephcated
M engulfe cQ\
] \\Yone of these
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A major safety 1ssue of locomotives getting

from the rakes due to a coupling

failure has been remaining unattended by the
Railways for more than three years now despite

instructions to it.

D 1. connected

4 eign

5. None of these
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Use the appropriat@according to the context to

connect the statement in the given order (starter
ect the stak
followed by A or B) and combine both the statements

to form contextually and grammatically correct.
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I) the COVIDI19 pandemic exposing the acute inequ1ty in

vaccine development and access

[T) the Indian government is working in partnership with

two leading global non-profits to convene and build

consensus among the G20 member states and others, for a

————

proposed Global Vaccine Research Collaborative.

Sa/vv\LM

3%4&_@«,\(1\

Moreover

5. None of the above
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@ne of the most intensely studied insect

groups /

IT) the evolutionary history and drivers of butterfly

)w‘ - diversification were Werstood
b

1. Unless >y M\/\b’\"\
<2 Despi® G ppik 3]
§. Hencey

Because of __ )K &) &\
5. None of the above
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I) the 2020 standoff in Eastern Ladakh marks three years

IT) India and China are far from achieving the objective of

disengagement and de-escalation and restoration of status
e

g ante to resolve the situation along the Line of Actual
Control (LAC).

- e Puapest j Uk
A Because O g5 ps1n

4.

5. None of the above
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Given below is a sentence in each question with a phrase

Wtermine which of the options should replace

that underlined part te-rectify—tif it has an error.
/
@ (J\/\J:UWEA
A
A )

@
- TBPS
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@h{ﬂ notﬁ that

ile deciding a motion to
reject a civil suit at the threshold,

to limit 1tself to

the assertions made in the plaint. T
\/ v

E o

__plamt—
Q\@ has to limit itself to the assertions made in the plaintj
s - N . .

4 Tas (o mttedtsell to the assertions madenthe

plaiat To V)

5. No correction required
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While some scholars have taken the preponderance of caste/community-based o
e o claim that the country effectively lacks a modern civil society,
S

—_—
[ —

other have hppreciated the role omrganisations in aiding democratisation and
— - )

1. ave appreciated the role of these organisations in aiding

mocratisation and exemplifying

0---e-..~e-.| nli
4. athers have-appreciated @-n---.;r tr-atdmg
dgnﬁcran.sa.t;on_and—exemph.f;z]ng

5. No correction required
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(‘v
After a monthlong trlal@%e 0 0p for the
| e ——a— ~——

artificiglantelligence powered (Al) camera surveillance

7
system from Monday.
/

1. Kerala is set to opt for th@

2. Kerala was set to opt for the artificial
>3
erala will sSgt to opt for the artificial

SN— T
0 correction required

Kerala’s set to opt for the artificial

IBPS



No correction required

IBPS






